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When counting with Permutations, the order the objects are chosen is important. When the order of
choosing doesnot have to be considered, werefer to Combinations. A combination is a subset of the
number of permutations and as such, thenumber of combinations for a particular situation is alwavs
less than the number of permutations.

The expression for evaluating combinations is as follows:

If “n” is the size of the sample space, and “r" is the number of items chosen on each trial, then the total

number of combinations is written as:
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Example 1

Abaseball team with 12 plavers is allowed to send four plavers to a weeleend batting clinic. In how manv
wavs can the group be chosen?

Solution

Since orderis not important, the group is a combination. You are choosing a combination of 4 from a
group g
group of 12.
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Example 2

(// and means o fﬂuy*k\j

A committee of size 4 and a committee of size 3 are to be assigned from a group of 10 people. How manv
wavs can this be doneif no person is assigned to both commirttees?

Solution
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Committee of size 4 AND Committee of size 3

210 < 20

= 4200 wavs

There are 4200 ways to form a committee of size 4 and a

committee of size 3 from a group of 10 people if no

person is assigned to both committees.
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